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"
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BB
H H & B Q7| IR BE2R B3R | ARt i &
1. BT T
Wi SR T (EE L) |[37)-Nxo 0. sy pisht
fiapss m’ 1.1 0.8 1.2 3.1
sk K )=t bEva Y e 0.05 0. 03 0.05 0.13 |[mALEG £
SR - AL AT ) ) - M m’ 0. 05 0.03 0.05 0.13
0.12 0.08 0.13 0.33
Ui L
OO VEATLE
EAER m 24.0 7.6 30.9 62.5
TEARR ZN 96 31 124 251
EAM b 2 i kg 4.8 1.6 6.2 12.6
Y=k W=30mm t=3. Omm kg 3.7 1.2 4.7 9.6 |mALEG £
FiEir L
RKEEIZ m’ 85. 3 85.3 85.3 | 255.9
ZASBIRN: 02 W
Bt 15 s 63 63 63 189
HAH A= f o =t | iy 63 63 63 189
£ = W w 002 002 602 006
S FEHF 40 41 38 SET)
AR ke AL 22 23 20 65
Cebi S 22 23 22 67
Bt ] e 22 23 22 67
3. FHERLAffs T
Wi EE T (2T L) |[37)-NEo 0. sy pisht
fiapss m’ 0.3 2.5 0.3 3.1
sk K )=t hEvay e 0.02 0.32 0.03 0.37 |mARE x4
S - AL AT ) ) - M m’ 0. 02 0. 32 0.03 0. 37
t 0. 05 0.75 0. 07 0.87




H H PSR -2 HONZ| SBIARM] B2 B3R | ARt i &
Db IAfifE T
DU IFEATIE
EALERE m 1.0 34.3 37.2 72.5
EALR ZN 4 138 149 291
TEARF by 2 i kg 0.2 6.9 7.5 14.6
YA W=30mm t=3. Omm kg 0.2 5.2 5.7 11.1 |maREE4
i ez L
KA Z IR m’ 17.7 35. 4 54.4 | 107.5
R Al
R Z s SD345 D25 kg — 10 — 10
KL Z VFTRE L
BT DD t=30 m’ 0.100 = 0.100  0.050 0.25
s - AL W) - % m’ 0.004  0.004  0.002 0.01
t 0.010  0.010 = 0.005 0.03
BT V2V AN AEEV m’ 0.004  0.006  0.004 0.01
B L A VTR P m’ 0.016 = 0.027 = 0.021 0.06
4. AR E L
FamE Bh7K 1
B3 7K Je& i BB RBS K m’ 81.36  81.36  81.36 | 244.1
RS, TIER & 18 AT V)™ fyva m 40.7 40.7 40.7 | 122.1 [FREREEEN AR [FE S,
12 A7 V) hyva m 8.0 8.0 8.0 24. 0 |EAREERSN A 9% RS 5,
I B Hiks t=bmm m 40. 7 40. 7 40.7 | 122.1
S i LR A m 48.7 48. 17 48.7 | 146.1
25T RL—yv EER =174 1 10 10 10 30
257 RL—yHl4L | ¢ 100 L=50mm L 10 10 10 30
¢ 50 L=124mm fL 10 10 10 30
VYT Va7 SER IMEE ¢ 25 m 14. 7 14.7 14.7 44.1 |#thg
1E® 4 H. ¢ 25/ fi# 12 12 12 36
TR T
LESHES m’ 84.16 = 84.16 = 84.16 | 252.5
PERA T - 4L 57 m’ 5. 89 5. 89 5. 89 17.7
t 13.84  13.84 13.84 41.5
AR t=50~90mm m’ 81.36  81.36  81.36 | 244.1




H H PSR -2 HONZ| SBIARM] B2 B3R | ARt i &
PR E e L
e VIR ES VN 4 4 4 12
WERRHE KB A G m 1.7 1.7 1.7 5.1
PR Hrak %N 4 4 4 12
m 6. 65 6. 65 6. 65 20.0
22 iz kg 196 196 196 588 |[SS400, STKR400
@R kg 4 4 4 12 [M12
5. fHiffe S i U L
HE T 7" n7y" a4/ CDx20 m 4.2 — 4.2 8.4 Mt v—-4"-H
7787y 447 hCDx30 A m — 4.2 — 4.2 |7 v -H
7 07y 3/ CDx40 H m — — 4.2 4.2 (M7 v-4"-H
6. &5 T
e 5 &S5 A | PCRE A& ) 45 m’ | 85.39 85.82  85.10 | 256.3
U T m’ 85.39  85.82  85.10 | 256.3
V= ViF m’ 85.39 = 85.82  85.10 | 256.3
EIE Y By RGmeE|Z A 7F m’ 5.12  12.80  17.92 35.8
G m’ 5,12 12.80 | 17.92 35.8
v-MiEBGE m’ 5,12 12.80 | 17.92 35.8




2. HEHE
2.1 LI $i=5E

1) WrmfsE T
1. 1L
WrimisEs A LE (27 V—hNEo0, 857 Lo, LA & Te)

[ EH#7]
RY)w— A FEALZ/NL  (t= 50 mm)

i | Em [ RS ) | & mE e [ES W | K5 w)

Gl 0.10 0.10 1 0.010 0.05 0.001

” 0.20 0.10 8 0. 160 0.05 0. 008

G3 0.20 0.10 6 0.120 0.05 0. 006

&3 (n?) 0.290 | &EF (") 0.015

) TR S EBEAFRI 2 55 < HEEfE
(47 ]
RY)w—F A FEAHZL  (t= 40 mm)

i | Em [ RS | & mE o) [ES W | KW

Crl 1. 00 0. 30 1 0. 300 0. 04 0.012

” 0.30 0. 30 1 0. 090 0. 04 0. 004

” 0.50 0.10 1 0. 050 0. 04 0. 002

Cr2 0. 40 0. 30 1 0.120 0. 04 0. 005

” 0.20 0.20 1 0. 040 0. 04 0. 002

” 0.20 0.20 1 0. 040 0. 04 0. 002

” 0.10 0.10 1 0.010 0. 04 0.001

” 0.20 0.10 1 0. 020 0. 04 0.001

” 0.15 0.15 1 0. 023 0. 04 0.001

Cr4 0.10 0.10 1 0.010 0. 04 0.001

” 0.10 0.10 1 0.010 0. 04 0.001

Cr5 0.10 0.70 1 0. 070 0. 04 0. 003

” 0.20 0.20 1 0. 040 0. 04 0. 002

AFE (%) 0.823 | A% (n”) 0. 037

) TR S IEBEAFRI 2 55 < HEEfE

T A = 0.290 + 0.823 = 1.113
e vV o= 0.015 +  0.037 = 0. 052

MO ALEE M a7 U — bk
v 0.015 + 0.037 = 0.052
W 0.052 X  2.350 t/n’ = 0.122



2. B2
WrmfsEs AELE (v 27V —NMNIo0, 8 vy, Biselsz 5te)
[F:47]
RN)<=—% A bE/AF/NL  (t= 50 mm)

fLiE ) | B ) [ &7 | mfEm?) | S )| K ()
Gl 0. 20 0. 10 1 0. 020 0. 05 0.001
G3 0.10 0.10 1 0.010 0. 05 0.001
" 0. 20 0.10 | 13 0. 260 0. 05 0.013
AFF (%) 0.290 | A& () 0.015

) PR S IFBEAFE 2 35 < HEEMH

Kol
RARYy~w—ERA FEALZL  (t= 40 mm)
friE | Em | REm) | EAT | me e [ ES @ | K0
Crl 0.20 0. 80 1 0. 160 0.04 0. 006
Cr2 0.10 0.10 1 0.010 0.04 0.001
Cr4 0.15 0.15 1 0. 023 0.04 0.001
Cr5 0.70 0.15 1 0. 105 0.04 0. 004
” 0.30 0. 60 1 0. 180 0.04 0. 007
N 0.478 | & () 0.019
) R S IIBE R X 2 55 < HEEE
T i A = 0.290 + 0.478 = 0.768
e vV o= 0.015 + 0.019 = 0. 034
RIE L W a s U — Rk
V = 0.015 + 0.019 = 0.034
W o= 0.034 X 2.350 t/p° = 0.080



3. B3
WrmfsEs AELE (v 27V —NMNIo0, 8 vy, Biselsz 5te)
[F:47]
RN)<=—% A bE/AF/NL  (t= 50 mm)

ArfE | tE ) | RS ) | @7 | @R m®) [ RS )| R W)
Gl 0. 20 0.10 | 10 0. 200 0. 05 0.010
G3 0. 20 0. 10 4 0. 080 0. 05 0. 004

it () 0.280 | &3t (n’) 0.014

) PR S IFBEAFE 2 35 < HEEMH

(AT ]
RY)w—F AL FEAZL  (t= 40 mm)

i | Em [ RS ) | & | mEe) [ES W[ KW

Crl 0.20 0.10 1 0. 020 0. 04 0.001

” 0.15 0. 05 1 0. 008 0. 04 0.001

Cr2 0.10 0.10 1 0.010 0. 04 0.001

” 0.20 0. 30 1 0. 060 0. 04 0. 002

Cr4 0.20 0. 50 1 0.100 0. 04 0. 004

” 0.10 0.20 1 0. 020 0. 04 0.001

” 0.10 0.20 1 0. 020 0. 04 0.001

” 0.10 0.20 1 0. 020 0. 04 0.001

Crb5 0. 80 0. 60 1 0. 480 0. 04 0.019

” 0.20 1. 00 1 0. 200 0. 04 0. 008

AFE (%) 0.938 | A% (n”) 0.039

) TR S EBEAFRI 2 55 < HEEfE

T A = 0.280 + 0.938 = 1.218
e vV o= 0.014 + 0.039 = 0. 053

EEML AL oL U — Rk
0.014 + 0.039 _ 0. 053
W= 0.063 X 2.350 t/n’ o

<
Il



2) OWbh L
I AREE

O bNEANTLE
[F:A47]
TR F URHE R
AL | 08 () | &S (m) | &7 | JER (m)
Gl 0.20 2. 60 2 5. 20
I 0.30 3. 60 1 3. 60
" 0.30 2. 00 1 2. 00
I 0. 20 1.00 2 2. 00
G3 0.20 0. 60 2 1.20
n 0.20 | 10.00 1 10. 00
et (m) 24. 00
HFAZ @ 0.250 m 4 &/m
N = 24.000 X 4
HEAM 43 g/A mAF 150 = 50 g/AK
W = 9 x 50 / 1000
— Lkt w = 30 mm t = 3.0 mm Ll L7 g/em’
= 90.0 cem®/m X 1.7 g/em® =

W = 24.000 X 153.0 / 1000

2. oM

OObFEALE
(A7)
TR R R
frig | 08 (mm) | RS ) | @& | EE ()
Gl 0.20 0.80 1 0.80
" 0. 20 1.00 1 1.00
" 0. 20 0. 80 1 0. 80
G3 0.20 5. 00 1 5. 00
At (m) 7.60
HAZ: @ 0.250 m 4 K/m
N = 7.600 X 4
EARF 43 g/A mAF 150 = 50 g/K
W o= 31 x 50 / 1000
=k w = 30 mm t = 3.0 mm Ll L7 g/em’
= 90.0 cp/m X L7 g/em’ =
W = 7.600 x 153.0 / 1000

96 A

4.800 kg

3.672 ke

1.550 kg

1.163 kg



3. HB3EMH

O NEANTLE
[F:47]
TARF R R2HE
AEE | b8 () | &S (m) | &7 | JER (m)
G1 0. 20 2.00 2 4. 00
U 0. 20 3. 50 2 7.00
U 0. 20 1. 30 1 1. 30
U 0. 20 1. 90 1 1. 90
U 0. 20 1. 40 1 1. 40
U 0. 20 1. 00 1 1. 00
U 0. 30 2.40 1 2.40
G2 0. 20 4. 00 1 4. 00
U 0. 20 3. 50 1 3. 50
G3 0. 50 3. 00 1 3. 00
U 0. 20 0.70 2 1. 40
At (m) 30. 90
HFAZ @ 0.250 m 4 K/m
N = 30.900 X 4 = 124 &K
HEAM 43 g/AK m AR 16% = 50 g/AK
W = 124 X 50 / 1000 = 6.200 kg
= LR w = 30 mm t = 3.0 mm lbE 1.7 g/em’
= 90.0 cem®/m X 1.7 g/cm3 = 153.0 g/m

W = 30.900 X 153.0 / 1000

4.728 kg



3) REERL

EMEIER |
10520 |
600 4000 820 %OD 4800 100
_k_ﬁﬁ ZLER BUE | BIi Agjl@
ABfTE BT
T =
\%
3 s 23 g
g e g
\‘5 §
E ! 2
400 400 |
1. S 1£RM
AWTTE A = ( 0.600 + 0.200 + 0.100 ) X 1.020 X 2
Bl A = ( 0.820 + 4.800 )
X ( 0.158 + 0.570 + 0.222 + 0.180 ) X 2
X A = 1/2 X ( 0.000 + 0.158 ) X 4.000 X 2
A= 1/2 x ( 0.840 + 0.570 ) X 4.000 X 2
A = 1/2 x ( 0.000 + 0.222 ) X 4.000 X 2
A = 0.180 X 4.000 X 2
T A= 1/2 x ( 0.570 + 0.840 ) X 0.130 X 3 X 2
75" A = ( 0.50l + 0.400 ) X 10.520 X 2

A = 42.644 X 2

2. F 2R
A = FIRMIEY

3. 3R
A = FIRMIEY

12.
. 632

. 836

701

640
888

. 440
. 550
18.

957

A

42.

85.

85.

85.

644

288

288

288



22PCUZYMEIAL BEHE

1777 bHEAL

PISTE
i e
4N T o <Y BT — 51 2% =]
4 PR IR - ~1iE BN A1-P1(3F 1 ££FH) ~ (42375 FH)
G1 G2 G3 it
77 MEA 0 | 55.670 55.670 55.670 #fH#t#  501. 030
ML ¢ 15 BT | 21 21 21 63.000 189.000 /
PSR —2 Wi g4, SMEG6 BT | - - - - -/
EAMAF—2 W15, SMEo22 T | 21 21 21 63.000 189. 040
=Y T Ew—k A PRSI m3 - - - - /
BT | t=50mmFR L m3 _ 0.0053 0.0053 0.0053 0.016  ¢9f048
M BENER
) 779 bEASE
PARTWTEIRE 1265 A= 235.6 mm2
L= 2f% ¢35 A= 962 mm2
Nz
C1~C7
A= ( 962 - 236 )/ 1,000 0.6 = 0.4358 m2
A1-P1 GLHf7
= 5.810 0
= 6.756 0
= 7.514 0
= 8.429 0
= 9.100 0
= 9.052 0
= 9.009 0
V= 55.670 0
= 5.810 0
= 6.756 0
= 7.514 0
= 8.429 0
= 9.100 0
= 9.052 0
= 9.009 0
V= 55.670 0

10



A1-P1 G3#7

C1
V= 0.4358 X ( 13.330 + 0.000 )
C2
V= 0.4358 X ( 15.500 + 0.000 )
C3

= 0.4358 X ( 17.240 + 0.000 )
C4
V= 0.4358 X ( 19.340 + 0.000 )
C2
V= 0.4358 X (  20.880 + 0.000 )
C3

= 0.4358 X ( 20.770 + 0.000 )
C4
V= 0.4358 X ( 20.670 + 0.000 )

2) 777 MERET

A1-P1 GIH7
Bl fL o165 (FHEFEATL)
i A HE |
N= 7 + 7 + 7 = 21 T
HER AR — =R
N= 21 X 0 = 0 &
FEAHB— A
N= 21 = 21 &
—U 7T (30~50mm  FJ40mm)
y= 0
= 0.0000  m3
WrmfsrE  (t=50mmFREE)
V= 1/4 X 7 7080 X 0.080 X 0.050 X 21
= 0.0053  m3
AL-P1 G247
Hl L ¢ 15
i A |
N= 7 + + 7 = 21 & AT
HER AR — =R
N= 21 0 = 0 T AT
= 21 &
AV 7T (30~50mm 4 40mm)
0
= 0.0000  m3

11



WrmmfsE  (t=50mmFRfE)

V= /4 X 7 X 0.080 X 0.080 X 0.050 X 21

= 0.0053
A1-P1 G3H7
b FL 15 (FHEATL) 3fEF/ A —T L
e HE H R

N= 7 + 7 + 7 = 1
HERH B — R
N= 21 X 0 _ 0
HEARH B —A
N= 21 = 21
v—U 7T (30~50mm FHJ40mm)
y=0

= 0.0000
WrmmfsrE  (t=50mmFRfE)
v= 1/4 X 7 X 0.080 X 0.080 X A.050 X 21

= 0.0053

12



(2) 77 v ke

Sk
/X /\ =
A R R T e P,
AL-P1 | P1-P2 | p2-a2 o "
BRA IR T & AT 40 41 38 119
75y b FEHPE xHRER 22 23 20 65
7 NEHiFgEE CCDH A T = 22 23 22 67
Bl AL N RUL¢30  fEPT 22 23 22 67 )
) 77 v FFEEHE
A1-P1
EREHRAE T i RE 25
N= (12 o+ 10 ) + -
777 M REFAAE (x BRIRE
[l HE
N= ( 12 + 10 ) =
AL 930 (N KU
A e Uit S T A5
N= ( 12+ 10 ) X 0.2 + 18 -

777 NFEEHA (CCDH A T iRE

Elﬁ
N=( 12

P1-P2
EREHRAE T
N=( 12

f =t
+ 10 )
+ 11 +

770 b FEEHEA (xR

i A
N=( 12
Hl fL. ¢ 30
L AR
N=( 12

i

()

+ 11 )

(N KU )
R
+ 11

o

X 0.2 +

X 0.2 +

770 N FEHEE (CCODBL TR

L A
N=( 12

P2-A2
ERARRE T
N=( 10

779 kel
i

SN

¢ 30
Elﬁ
( 10

Elﬁ
N=( 10

%gll

+

N

)

10 +

fiids (xfRiRie

%\glﬁ
+ 10 )

(Nr= RUL)
HE AR
+ 10 )

777 N FEEHA (CCDH A TiRE

o

F =t
+ 10 )

X 0.2 +

X 0.2 +

X 0.2 +

18

18

18

18

13

40

22

22

22

41

23

23

23

38

20

22

22



2.3 TEIIMET #MEFHE

1) WrmfEE T
1. B 1L

WrfEtEsr B LiE (22U —MIo0, 7 Lo, Bz &)

[AfER]
RNRy~—FA L REALX)L (t= 70 mm
i g (m) | B&m) | &7 | mfe) [#ES @ w60
AFEE 0. 30 0. 80 1 0. 240 0.07 0.017
I 0. 20 0. 20 1 0. 040 0.07 0.003
A () 0.280 | & (%) 0.020
1) 3 SITBEFERE 25 S < HEEE
i A = 0.280
e v o= 0.020
PIEM - AR R o U — bk
Vv = 0. 020
W = 0.020 X 2. 350 t/m3

2. B2

WrfEfEsr B LiE (22U —MIo0 ., S Lo, Bz &)

(PLARIA]
RY)<w— A FEAZL  (t= 110 ~ 160 mm)
(VA g m) | RS m) | FET | mfs ) R (m) AR (n”)
/i 0. 50 0.30 1 0.150 |3%  0.14 0.021
& LA 0. 60 0.47 1 0.282 [%  0.14 0. 039
I 1.05 0. 20 1 0.210 |3%  0.14 0. 029
I 0. 30 0.39 1 0.117 |3%  0.16 0.019
I 1.10 0. 20 1 0.220 |3%  0.16 0. 035
TR 0. 50 0. 50 1 0.250 %  0.11 0.028
I 0. 40 0. 60 1 0.240 |3  0.11 0. 026
ST 0. 60 0. 80 1 0. 480 0.12 0. 058
I 1.30 0. 40 1 0.520 0.12 0. 062
A ) 2. 469 A7 (n”) 0. 317
1) SRENTR S 3BT D 0 FAARE R D OHEE A
ZOIED D R S IFBEAFE X IS < HEE A
[AIFH A = 2.469
e vo= 0.317

=
Il

0.317

0.317 X

o7 U — Rk

2.350

t/m

14

0. 280

0. 020

0. 020
0. 047

2. 469

0.317

0.317
0. 745



3. 3R
WrisEEsM s Lk (227 U —RMI20 ., 87 Ly, Bisalaaie)
(P21 A ]
RARy~—FA L FEALZ)L  (t= 140 mm)

i ) | B ) [ &P | mhim®) | S )| AR ()
FEy =N 0.10 0.10 1 0.010 0.14 0.001
" 0. 40 0. 30 1 0. 120 0.14 0.017
A (%) 0.130 | & (%) 0.018

1) PR SVFPUEII O Bk > 0 G E S < HEETE

WVATGNS)

Ry~—FA L FEALZ)L (t= 70 mm)

e | wm [Eso [ e [Bso] #mmed
AFEE 0. 30 0. 60 1 0. 180 0.07 0.013
it () 0.180 | 4zt 0.013

T8 PR S IFBEFE 23S < HEEMH

T fE A 0.130 + 0.180

HEM v

0.018 + 0.013

BOESRALEE M a7 U — b
v 0.018 + 0.013
W 0.031 X 2.350 +¢/n’

15

0.310

0.031

0.031
0.073



2) OWbh L
I AREE

O Wb vEA L
[AfER]
TR URHR R 2TE
ArE | Emm) [ B m) | &EPr| &R ()
ALKESR 0. 20 1. 00 1 1. 00
EEF(m) 1. 00
HFAZERE L = 1.000 = 1.000 m
HEAZE @ 0.250 nm 4 X /m
N = 1.000 X 4 = 4 K
EARF 43 g/A oA 15% = 50 g/A
W= 4 X 50 / 1000 = 0.200 kg
=AM w = 30 mm ot = 3.0 mm tE 1.7 g/enm’
= 90.0 cm’/m X 1.7 g/em® = 153.0 g/m
W = 1.000 X 153.0 / 1000 = 0.153 kg
2. B2
O Wb vEA L
(P14 ]
TR VR R2TE
ArE | Emm) [ BSm) | &EPr| ZEE ()
Wbyt i]] 0. 50 4. 40 1 4. 40
[V 0. 30 0.90 1 0.90
n 0. 50 6. 00 1 6. 00
Fy =N 0. 50 8. 00 1 8. 00
Ty 0. 30 15. 00 1 15. 00
EEF(m) 34. 30
FAZER L = 34.300 = 34.300 m
HEAZE @ 0.250 nm 4 X /m
N = 34.300 X 4 = 138 A
EARF 43 g/K o AFE 16% = 50 g/AK
W = 138 X 50 / 1000 = 6.900 kg
=AM w = 30 mm t = 3.0 mm lE 1.7 g/enm’
= 90.0 cm’/m X 1.7 g/em® = 153.0 g/m

W = 34.300 X 153.0 / 1000 5.248 kg

16



3. FB3EEMH

OWbEATE
[P2AE K]
TR URHR R 2TE
ArE | Emm) [ B m) | &EPr| &R ()
Wbyt il 1. 00 2.50 1 2.50
B SR 0. 50 12. 00 1 12. 00
n 0. 50 4. 00 1 4. 00
F =N 0. 20 4,20 1 4,20
n 0. 20 8. 00 1 8. 00
n 0. 20 3. 00 1 3. 00
EEF(m) 33.70
[A24EH]
TR X VIR R 2R
ArE | Emm) [ B m) | &EPr| &R ()
A2KEER 0. 50 0. 50 1 0. 50
n 0. 20 3. 00 1 3. 00
EEF(m) 3.50
EALEE L = 33.700 + 3.500
HEAZE @ 0.250 nm 4 A /m
N = 37.200 X 4
EARF 43 g/A g AFE 16% = 50 g/AK
W o= 149 X 50 / 1000
=k w = 30 mm t = 3.0 mm Ll L7 g/em’
= 90.0 cm’/m X 1.7 g/em® = 153.0 g/m
W = 37.200 X 153.0 / 1000

17

37.200

149

7. 450

5.692

kg

kg



3) KEEHRL
L. 11 ]
(AL

2. B2
(PIARRAT]

3. FB3EEMH
[P2ARRAT]

[A2f& 5]

4) BRFHME T
L. 21 W]

TS A FH e

(P LAg ]

A = 12.900 + 2.800 + 1.000
A = KEkLY
A = ( 4.80 + 1.600 ) X 2
A = 1/2 x ( 1.600 + 1.200
A = 1/2 x (  4.800 + 1.200
A = wm/2 X ( 1.200 + 1.525
A = KEkLv
A = ( 4.80 -+ 1.600 ) X 2
A = 1/2 x ( 1.600 + 1.200
A = 1/2 x (  4.800 + 1.200
A = wm/2 X ( 1.200 + 1.525
A = 13.100 + 2.900 + 1.400
Al + A2 = 35.580 + 18.800
SD345
D25~D16 D25 10 kg
a F 10 kg

18

+ 1.000

17.700

2.600
6. 400
1. 509
11. 208
13. 663

XA

35. 380

2. 800
6. 400
1. 509
11. 208
13. 663

Al
A2

XA

35. 580
18. 80

54. 380



5) HEEEL & VFTRET
1. B
TSV
(P1AGIA]

= = < < = o=
Il

HIEE L X L
(P14 ] Vv =

V =
)L & LT R
(P& ] A =

A =

2. B2
KT
(P& ] A =
[P2A& ] A =

R AR

XA =

XV =

W o=
KEEE L Z L

(PIARRAT] v o=

(P2 ] v

BT VB VI
(P LAG ] A=
(P2 ] A

PIFE  t= 30

0
0
0
0
0
0

.500 X 0
.0560 X 2
.0560 X 0
.002 X 2
.002 X 2
.005 X 2

PG t= 12

(

P1, P2KEI t=

500 X 0.

050 x 0.

002 x 2.
.500 X 0.
.0560 X 0.
.002 X 2.
.050 + O
.002 + O
.005 + O

0.

0.

0.

0.
0.
0.

050 x 0.

002 X 2

0.500 +
008 X 2

PIFE  t= 20

(
(

0.

0.

050 x 0.

050 x 0.

0.500 +
0.500 +

. 100

. 030

. 350

030

t/m

+

0.500 X

0.100 +

30

100
030
350

100
030
350

. 050

002
005

030

030

t/m

t/m

PG AN

+

+

0.100

t=

19

0.500 X

0.500 X

0.100 +
0.100 +

19

0.100
0.100

0.1256 X

) X

0.012

0.1256 X

0.1256 X

) X
) X

0. 020
0.019

0.012

0. 020

0.019

o o o o o 2o

. 050

100
002
004
005

.010

. 002

. 004

. 008
.016

. 050
. 002
. 005

. 050

. 002
. 005

. 100

. 004

.010

. 003

.003

zV

. 006

.014
.013

XA

. 027



3. HB3EMH

BIEIZHS D PG t= 30
[P2AR ] A = 0.500 X 0.100 = 0. 050
= 0.050 X 0.030 = 0. 002
= 0.002 X 2.350 t/m’ = 0. 005
BIEELH L P2REI  t= 20
[P2AR ] V = 0.050 X 0.030 = 0. 002
= ( 0.500 x 0.125 + 0.150 X 0.350 )
X 0.020 = 0. 002
XV = 0. 004
S I S AV iy
[P2A& ] A = ( 0.500 4+ 0.100 + 0.100 + 0.350 ) X 0.020 = 0.021
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2.4 BEMEL HEHE

L. A Bh K T
1) Bk e et
LSRR YBIRGRBE K
A = 20.340 X  4.000 = 81.360
2. WM BBCRELK
A = 20.340 X  4.000 = 81.360
3. M WBLRELK
A = 20.340 X  4.000 = 81.360

2) ERAA TR
L. B 1R
¢ 18 L = 20.340 X 2 = 40.680
¢ 12 L = 4.000 X 2 = 8.000

2. Hi2FE ]
¢ 18 L = 20.340 X 2 = 40.680
¢ 12 L = 4000 X2 = 8.000

3. H 3]
¢ 18 L = 20.340 X 2 = 40.680
¢ 12 L = 4000 X2 = 8.000

3) B H HiS
1. B1£XM t=bmm
L = 20.340 X 2 = 40.700
2. 2R t=bmm
L = 20.340 X 2 = 40.700

3.3 t=bmm

L = 20.340 X 2 = 40.700
4) BB

I AREE

L = ( 20.340 + 4.000 ) X 2 = 48.680
2. FF2 M

L = ( 20.340 + 4.000 ) X 2 = 48.680
3. F3EH

L = ( 20.340 + 4.000 ) X 2 = 48.680
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5) AT 7 RL—r
LEIRM EER
=174 N = 10

2. Motk EAER
L=174 N = 10

3. HSEEM EAER
L=174 N = 10

6) A7 7 KL — HIfL
1. B

$ 100 L=50mm

¢ 50 L=124mm

2. B2
¢ 100 L=50mm
¢ 50 L=124mm

3. B3
¢ 100 L=50mm
¢ 50 L=124mm

7) VYT a7 SRR
LSRR SME ¢ 25

Al ( 0.500
F ( 0.100
P1 ( 0.500

Varanl oV

2. oM MR 25

P1 ( 0.500
F ( 0.100
P2 ( 0.500

VoS Y/

3. F3RME MR 25

P2 ( 0.500
F ( 0.100
A2 ( 0.500

10
10

10
10

10
10

. 704
. 253
. 704

. 704
. 253
. 704

. 704
. 253
. 704

) X 2
+ 0.362 —+
) X 2

) X 2
+ 0.362 —+
) X 2

) X 2
+ 0.362 —+
) X 2

22

0.222 +

0.222 +

0.222 +

0.712

0.712

0.712

)

)

)

X 6

10

10

10

10
10

10
10

10
10

. 408
. 894
. 408

fL
fL

fL
fL

fL
fL

2L

X 6

. 710

. 408
. 894
. 408

2L

X 6

. 710

. 408
. 894
. 408

2L

14.

710



8)

kil

IR o =
L. 125
A N =2 X6

2. B 2P
A N =2 X6

3. 53RN
A N =2 X6

?é.?‘:
o
S
i
H

1)

2)

3)

BRI CR R ) -
LEIRE t= 70 mm CEXE)
A = 21.040 X  4.000

2.2 t= 70 mm CEHE)
A = 21.040 X  4.000

3.3 t= 70 mm (CPEHIE)
A = 21.040 X  4.000

BER TESR - 25y

1LERRE VvV = 84.160 X 0.070
W = 5.891 X 2.350
2.9214%f vV = 84.160 X  0.070

= 5.891 X 2.350

3.3 vV o= 84.160 X 0.070

t/m

t/m

= 5.8 X 2.350 ¢/m’

LE1IRR t= 70 mm CEHE)
A = BFERBIKEMELY

0. 8o t= 70 mm (EHE)
A = BFERBIKEMHLY

33 t= 70 mm (EHE)
A = BFERBIKEMHLY

23

84.

84.

84.

81.

81.

81.

12

12

12

160

160

160

. 891
13.

844

. 891
13.

844

. 891
13.

844

360

360

360



3. HEKAEHiE T
1) BERRHEKE R
1. 1R

2= N =4 = 4
AW L = ( 0.150 + 0.060 ) X 2 X 4 = 1.680
2. 2R
2= N =4 = 4
AW L = ( 0.150 + 0.060 ) X 2 X 4 = 1.680
3. ZH 3R
2= N =4 = 4
Al L o= ( 0.150 + 0.060 ) X 2 X 4 = 1.680
2) FrkHEKE
1. BB 1R
Bk N =4 = 4
= 1.663 X 4 = 6.652
[ BEKERIE ) 4
B¥ | fER ~ = E & Kg/m Kg/{& Kg % ] e = NET
1O 200 X 100 1663 | 20.100 @ 33.426 33 |STKR400
4 FB 100 X 6 434 | 4.710  2.044 8 SS400
4 FB 100 X 6 199 | 4.710 | 0.937 4 SS400
4 FB 100 X 6 141 | 4.710  0.664 3 185400
1 SGP X 25A 200 | 2.430 @ 0.486 1
16 B.N M12 X 40 0.077 1
INF 50 Kg
4 X JN 2 200 Kg
HERIETR>
A% O STKR400 200 X 100 33 Kg X 4 # = 132 Kg
SEEH FB SS400 t= 6 15 Kg X 4 %A = 60 Kg
k=g SGP 25A 1 Kg X 4 #H = 4 Kg
1414 49 Kg IR HER 196 Kg
AN @R vy MI2 L= 40 1 Kg X 4 #4 = 4 Kg
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2. B2

FIEERIEE LY

Brax N =14 = 4 K
L = 1.663 X 4 = 6.652 m
[ HEKEME ] 4 8
B¥ R < % K& & Keg/m  Kg/f# Kg #MH i B NET
10O 200 X 100 1663 | 20.100 = 33.426 33 |STKR400
4 FB 100 X 6 434 4.710  2.044 8 1S5400
4 FB 100 X 6 199 4.710  0.937 4 SS400
4 FB 100 X 6 141 | 4.710  0.664 3 SS400
1 SGP X 25A 200 | 2.430  0.486 1
16 B.N M12 X 40 0.077 1
INF 50 Kg
4 X /N F 200 Kg
EEARTEFR>
AAENE [0 STKR400 200100 33 Kg X 4 # = 132 Kg
S-S FB  SS400 t= 6 15 Kg X 4 #A = 60 Kg
P SGP 25A 1 Kg X 4 #H = 4 Kg
EH% Y 49 Kg ISR 196 Kg
Kb WiEs vk MI2 L= 40 1 Kg X 4 #H = 4 Kg
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3. B3R

FIEERIEE LY

Brax N =14 = 4 K
L = 1.663 X 4 = 6.652 m
[ HEKEME ] 4 8
B¥ R < % K& & Keg/m  Kg/f# Kg #MH i B NET
10O 200 X 100 1663 | 20.100 = 33.426 33 |STKR400
4 FB 100 X 6 434 4.710  2.044 8 1S5400
4 FB 100 X 6 199 4.710  0.937 4 SS400
4 FB 100 X 6 141 | 4.710  0.664 3 SS400
1 SGP X 25A 200 | 2.430  0.486 1
16 B.N M12 X 40 0.077 1
INF 50 Kg
4 X /N F 200 Kg
EEARTEFR>
AAENE [0 STKR400 200100 33 Kg X 4 # = 132 Kg
S-S FB  SS400 t= 6 15 Kg X 4 #A = 60 Kg
P SGP 25A 1 Kg X 4 #H = 4 Kg
EH% Y 49 Kg ISR 196 Kg
Kb WiEs vk MI2 L= 40 1 Kg X 4 #H = 4 Kg
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2.5 HiERENET BEHE

AL (F)

2. T— )V

AL (F)

( SS400 + ARk =2 + SD345 + M —LHF )

Tu7vYaA v hCDxEI-20H WML —%—H

PA X
V =

45.0 mm X 25.0 mm
cm X 2.

4.50

3. a7 U—=hr7Trh—

Al (F)

R ER A

4. BEE =7 U — |k

Al (F)

V =

5. 7o T AKX VR

CDx 20H n= 2 T
Ee
L. fhHEETEERE  ( SS400 + Ak =L + SD345 + BPES — L )
PIM) “wu7yaAr hCDM—30 M7 L—&—H
2. =M (vV=ar%k)
PIM) WA X  30.0 mm X 25.0 mm L= 1200 mm
V = 3.00 cm X 2.50 ecm X 120.00 cm —
3. a7 U—hK7r— (SD345 )
PI (M) b FER AR D16
4. BEE= 7 U— b
PIOM) V = 4.200m X 0.350m X ( 0.090m +
4+ 4.200m X 0.350m X ( 0.090m -+

5. T T AKX K

P1 (M)

CDx 30H

4.200m X

(vVarvzk)

( SD345 )

D16H

+  4.200m X

0.350m X (

L= 1200 mm

50 em X 120.00 cm —+

0.300m X (

( SS400 + ML —LEf )

( SS400 + PP — L8 )

n=

2 AT

27

0.090m +

0.090m +

1000

0.090m ) + 2

0.090m )

1000

0.090m ) + 2

0.090m )

- 2

- 2

4.200

1.35

64

0. 246

4. 200

0.90

64

0. 265

Jyh-

o4



. hfEREFREREE (. SS400 + A% A + SD345 + BEMET — LR )

P2M) TeT7VaAr FODI—40 M L—&—H L = 4.200 nm
A2(F) Twm7¥aAr MODxR—20H T L—&—H L = 4.200 nm
>L = 8.400
=k (U arRk)
P2MM) YA X 40.0 mm X 25.0 mm L= 1200 mm
vV = 4.00 cm X 2.50 cm X 120.00 cm —+ 1000 = 1.20 Uyp-
A2(F) H A X 30.0 mm X 25.0 mm L= 1200 mm
vV = 3.00 cm X 2.50 cem X 120.00 cm = 1000 = 0.90 Uy
YV = 2.100 Jyh-
a7 Y — k7 Hh— (SD345 )
P2 (M) b FER AR D164 N = 64
A2(F) ETFERTAI D164 N = 64 K
>N = 128 A
. BEm a7 ) — b
P2MM) V = 4.200m X 0.350m X ( 0.090m + 0.090m ) =+ 2
+  4.200m X 0.350m X ( 0.090m + 0.090m ) =+ 2 = 0.265 p®
A2@F) Vo= 4.200m X 0.350m X ( 0.090m + 0.090m ) = 2
+  4.200m X 0.300m X ( 0.090m + 0.090m ) = 2 = 0.246 ?
>V = 0.511 p
T FAZ R (0 SS400 + B — LA )
P2(M) CDx 40/ n= 2 &7 N = 2 fEPT
A2(F)  CDx 20H n= 2 &7 N = 2 fEPT
>N = & AT
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2.6 BiI5T HEFHE

1. mE%

1)

2)

3)

R T
L. S 1FE ]

MRk
L. S 1FE ]

A T
I AREE

4.800 X

4.800 X

4.800 X

RS L

RS L

2y )

RS L

RS LD

RS L

17.790

17. 880

17.730

29

85.

85.

85.

85.

85.

85.

85.

85.

85.

392

824

104

392

824

104

392

824

104



2. fBHIE Y 25

1)

2)

3)

S T FE
1. 5 1R R
Al

A2

WaERG i
1. 1R R

y—haRB
1. B 1L

6.400 X

( 4.800 X

( 4.800 X

6.400 X

RS LD

RS L

RS LD

RS L

RS LD

RS L

0. 800

0. 800
+ (

0. 800
+ (
0. 800

X 2 )
3.200 X

X 2 )
3.200 X

30

0.800 X 2

0.800 X 2

)

)

12.

12.
. 120

. 120

800

800

XA

17.

12.

17.

12.

17.

920

. 120

800

920

. 120

800

920



